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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-III Examinations, 2018

HISTORY-HONOURS

PAPER-HISA-VI

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. fee Mz 147 T 2T facit a1
Candidates should answer in their own words sSrErdial facera ©1F7 IR TG AN Y
and adhere to the word limit as practicable. &7 PAE!

Answer Question No. 1 and any four from the rest
S TR &Pl 9L S CI-CHITA BTG STad Ted wie
Group-A
fom-=
1. Answer any four questions from the following: 5x4 =20
RS - 51AfD elves Ted wies
(a) How did Rousseau influence the French Revolution?
w0l Dol Tl Redes ereifie sefee 2
(b) Examine Necker’s role as Finance Minister.
SR R (IR it ofiena Fet
(c) What is meant by ‘Spanish Ulcer’?
AN FS IO I @RI 2
(d) What do you know about the ‘Karlsbad Decree’?
PR (TR F9TF F1 Sl 2
(e) How did the Zollverein foster German nationalism?
(SR TSI S S eRIt afein Fafee ?
(f) What was the Narodnik movement?
AR ST B 2
(g) What was Count Witte’s role in Russian industrialisation?
Ao s <oies ©2UBa kel i fiet 2
(h) What was Welt Politik?
e A F 2
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Answer any four questions from the following

fasfeie Q- srafe eivse Teg e

Was the role of the philosophers crucial in the French Revolution?

TRt e wefRaTra s it ewgsyd et o

Discuss the achievements of the Constituent Assembly. Did these preserve
mainly bourgeois interests?

KR Ol AT WA I @] RIFRf F e grea L w3we
PR 9

What was the Continental System? How far was it responsible for the
downfall of Napoleon?

TR 3 ) Re 9 FeAfeTaE 2fora ey @ I Fodlif widt f2E ¢

How did the spread of nationalism in Europe in the first half of the
nineteenth century destroy Metternich’s system?

TG 2T PO THRH *erFa AANTE ISR GBS GIBE /A
PafRe ?

Make a comparative assessment of the unification processes of Germany
and Italy.

goifer ¢ wnfifera arra effdat qiba gaatEs JenRe S0t

Why did the Industrial Revolution first occur in England?
i1 et (o Reices Q99900 2

Give an account of the reforms of Czar Alexander-II. What were the major
limitations of his reforms?

w7 fad WitsraTeiEs MIRelr [Faad wie | u Il ey Fnae! J
feei

How was Europe polarised in the late 19th and the early 20th century? Did it
have any impact on international politics?

Tt *o@d (T qR e o137 A 8@ I (=F [eifere zrafee 2
T [GF AGTAGCS F! G (FIA ST TSR 9

How far was Germany responsible for the First World War?

2w feagras oy Sty sl vl & 9

20x4 =80
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